Oodooodno
(July 04, 2007, Draft)

oo moooo mad

O 305-0501 DO 0DOO0ODOOODOOO
gboobgoboooooboon



Contents
1. 00000000000 ucsource.f0 00

2. 0000000000000
2.1, Co-600 YO0 o v v ot e e e e
2.1, 000000001 .« o oo e e e e e

2.1.2. data OO0O000000: © o oo vt et e e e e

2.13. data 00000000000 © o oo vt e et

2.2, 11920 YOO« oo ot e e e e e e
2.3, ST90—B 00 o vt e

3. 00oopoogod
5 70 S
3.2. Rejection O . . . L L o L L e e e e e e e e

4. 0000000000 (27)
4.1. 00000000 ... e e e e e e e e
4.2. Rejection [0 . . . . . o 0 0 e e e



1. JO000O0O0OQODODOOd ucsource.fOOO

00000 0OFg 1000000 cgODODODDOODDOOODOODODDObDOObDOOO
00000000000 000000o00 (UD0o000o0O0o0o0o0ooO0O (1.253MeV)000
Uo0zZ-00-5>emI000000O0OOODOODOODDODDOOOOODOO
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Figure 1: Geometry of ucsource.f

2. Jgogobooobobood

2.1. Co-600 ~-00O

000 1.173MeV O 1.333MeVOy OO OO0 O0OD0ODO0O Co600 y-000000D00O41f0O
obbodbbDdetab0 00000000 oboboobboobbbOOooooon

2.1.1. if0D00D00O0O0OO:
1. cp ucsource.f ucsourcel 0.f
2. ucsourcel 0.0 00

e JIODOUIDOOODOODOOOOOOO
* esbin(1),spg(1),spe(l)

* esbin(2),spg(2),spe(2)
oooo

nsebin=1

nsebin=2
goono
e OO OODDOOOOOODOOOOO

ekein=1.253 ! Kinetic energy



ekein=1.333 ! Kinetic energy
gooog

esbin(1)=eckein

O
esbin(1)=1.173
esbin(2)=1.333
ooogo

e DI DOODLODLOOOOODLDODOO

ekin = ekein
spg(1)=spg(1)+1.0

O
call randomset(rnnow)
if(rnnow.le.0.5) then
ekin = 1.173
spg(1)=spg(1)+1.0
else
ekin = 1.333
spg(2)=spg(2)+1.0
end 1if
oooo

3. ucsourcel 0.f 0 egshrunJ OO DO 0T

0000 40000000 ucsourceJ OO0 O0OOOO 25007return”0000O0O0O

4. ”Does this user code read from the terminal?’0 000 1000000

5. egshjoboout 0000 O0DO0O0OODODOO1I010000000000DOO00ODOODODOO

Sampled source spectrum

particles/source
Upper energy Gamma Electron
1.1730 MeV-- 0.49710 0.0000
1.3330 MeV-- 0.50290 0.0000

2.1.2. data0O0O0O0OOOODO:
1. cp ucsourcel 0.f ucsourcel 1.f
2. ucsourcel 1.£000

e real*8 0 00 espdf(2),escdf(2) 000 OO0

real*8
* availke,ekin,tnum,wtin,wtsum,xi0,yi0,zi0,
* esbin(2),spg(2),spe(2)

O
real*8
* availke,ekin,tnum,wtin,wtsum,xi0,yi0,zi0,
* esbin(2),spg(2) ,spe(2),espdf(2),escdf(2)
oooo

e integerJU DU UMD dataJDOODOOO

pdf

! Local variables

! Local variables



integer
* i1,icases,idin,ie,ifti,ifto,ii,
* j,k,n,nd,ner,nsebin

O
integer
* i,icases,idin,ie,ifti,ifto,ii,
* j,k,n,nd,ner,nsebin
data esbin/1.173,1.333/
data espdf/0.5,0.5/
oooo

e nsebin=20000df0 0000000 0OODOO

nsebin=2

tnum=0.D0

do ie=1,nsebin
tnum=tnum+espdf (ie)

end do

escdf (1)=espdf (1) /tnum
do ie=2,nsebin

escdf (ie)=escdf (ie-1)+espdf(ie)/tnum
end do

good
e JIDUOOOOUOUODODOOODDODOO

ekein=1.333 ! Kinetic energy
O

ekein=esbin(nsebin) ! Maximum kinetic energy
oooo

e JOODODOOODOO

esbin(1)=1.173
esbin(2)=1.333

gooognd
o JOIDUOUOOOUODLODOODOOLOOODLDOO

call randomset(rnnow)
if(rnnow.le.0.5) then
ekin = 1.173
spg(1)=spg(1)+1.0
else
ekin = 1.333
spg(2)=spg(2)+1.0
end if



call randomset(rnnow)

do ie=1,nsebin
if (rnnow.le.escdf(ie)) go to 1000

end do

1000 ekin=esbin(ie)

if(iqin.eq.0) then
spg(ie)=spg(ie)+1.0

else
spe(ie)=spe(ie)+1.0

end if

good

3. ucsourcel 1.f 00 egshrunJ 0O O OO
0000 40000000 uecsourceD OO0 OO0O00OO 2500 return”’00 0000

4. ”Does this user code read from the terminal?’0 000 1000000

5. egshjoboout 0000 O0DO0O0OODODOO1I010000000000DOO00ODOODODOO

Sampled source spectrum

particles/source
Upper energy Gamma Electron pdf
1.1730 MeV-- 0.49710 0.0000
1.3330 MeV-- 0.50290 0.0000

2.1.3. data 0000 O0O0OOOO0O:
1. cp ucsourcel_1.f ucsourcel 2.f
2. ucsourcel 2. 000

e local variableOOOOODO

real*8 ! Local variables
* availke,ekin,tnum,wtin,wtsum,xi0,yi0,zi0,
* esbin(2),spg(2) ,spe(2),espdf(2),escdf(2)

0
real*8 ! Local variables
* availke,ekin,tnum,wtin,wtsum,xi0,yi0,zi0,esbin(MXEBIN),
* spg(MXEBIN),Spe(MXEBIN),espdf(MXEBIN),escdf(MXEBIN)

ooooon

e datall

data esbin/1.173,1.333/
data espdf/0.5,0.5/

oooooo

e cpen 0 0O0O0OO0O

open(6,FILE="egs5job.out’,STATUS="unknown’)

0
open(6,FILE="egs5job.out’,STATUS="unknown’)
open(2,file=’co60.inp’,status=’unknown’)
oooo



e co60.inp 0 UIDO0ODLUODOOODLDODOODDOODOODOODLODDbDUOOUODLOO
goobooboooooboo

1.173,1.333
0.5,0.5

e nsebin=2000 000000000

read(2,*) (esbin(i),i=1,nsebin)
read(2,*) (espdf(i),i=1,nsebin)

e JOIDDODODODOOO

write(6,170) esbin(ie),spg(ie),spe(ie)

170 FORMAT(G10.5,’ MeV--’,8X,G12.5,8%X,G12.5)
O

write(6,170) esbin(ie),spg(ie),spe(ie),espdf(ie)/tnum
170 FORMAT(G10.5,’ MeV--’>,8X,G12.5,8%X,G12.5,8%X,G12.5)
oooood

3. ucsourcel 2.f [0 egshrunJ OO O OO
0000 40000000 uecsourceD OO0 OO0O00OO 2500 return”’00 0000

4. ”Does this user code read from the terminal?’0 000 1000000

5. egshjoboout 0000 O0DO0O0OODODOO1I010000000000DOO00ODOODODOO

Sampled source spectrum

particles/source
Upper energy Gamma Electron pdf
1.1730 MeV-- 0.49710 0.0000 0.50000
1.3330 MeV-- 0.50290 0.0000 0.50000

2.2, Ir-1920 v OO

r-19200 00000 yOO0OOODODOOOOLOOOOLDOODOOLODDUOODODOODLDmMOOD
gpoooboobigo

Energy | Emission
Rate
0.296 28.7
0.308 30.0
0.317 82.7
0.468 47.8
0.589 4.5
0.604 8.2
0.612 5.3

1. cp ucsourcel 2.f ucsource2.f
2. ucsoure2.f00 00
o D IDODLOODODO openODODOOOO

open(2,file=’co60.inp’,status=’unknown’)



open(2,file=’ir192.inp’,status=’unknown’)
oooo

e ir102.inp 0 00 D0DOOOODOOOLODDODLODODLOOOODLDOODLDLDOODDOOOOOO
gooooooboboogd

0.296,0.308,0.317,0.468,0.589,0.604,0.612
0.287,0.300,0.827,0.478,0.045,0.082,0.053

e DOODDOODODODODODO!

nsebin=2
(]

nsebin=7
goon

3. ucsource2.f [J egshrunJ O OO 0T
0000 40000000 uecsourceD OO0 OO0O00OO 2500 return”’00 0000

4. ”Does this user code read from the terminal?’0 000 1000000

5. egshjobout 0000 DOO0OODODOODOODODOOODODOODODODODODOODODODODOOOOO

Sampled source spectrum

particles/source

Upper enerﬁy Gamma Electron pdf

.29600 V-- 0.14040 0.0000 0.13851
.30800 MeV-- 0.14210 0.0000 0.14479
.31700 MeV-- 0.40050 0.0000 0.39913
.46800 MeV-- 0.22930 0.0000 0.23069
.58900 MeV-- 0.22000E-01 0.0000 0.21718E-01
.60400 MeV-- 0.39300E-01 0.0000 0.39575E-01
.61200 MeV-- 0.26400E-01 0.0000 0.25579E-01

2.3. Sr-90—-4 00

000000000000 000O00O00OO0O0OODODOOOOOOOOODOOODOODO
gogoooobooobobobuobooooboooobbboooobooboooboboDO
0000000000000 0000 (000000000 o0)0o00o00oUooobooooo
gooboooboobooboooobooobobob obbboooboobobboooboobobg
gogoobobooboboboooodobooobbooboboobobDuobooboboobUobLbobo
ggbooobooobbooobobdooooobbobbbobbbobooobobbboog
gogobobooogbooboobobobobbobobooooooboobooobobbobag
goooond

O000DO00O0D0O0OO000S-9%0 0000000000000 000O00O00DOO0OICRU
Report 56 00 0OSr-900 0000000 M OO0O0OOODOOOODDOOOD 410000000
0000000000 0000000000000 0O0O0OO0O0OOO0UODOUOOOBOOOOO
gooboobooboobboobb

000000000000 00000000000000000000000000000000000000000
0000000000000 0D00000000000000D0000D0000 O7egsbrun”0 00000 DOOO ”egsbrun
db’0 000000000000 0000000000000 000000D00D0DOO”egsbjob.exe’000O0O00O0OOOO
oo0oo0oo0ooUooo0oooo0ooUO0ooUoUoUoOUUL(D0DOLDUO0DO00ODOO0ODODOoOD) W
goboboboooooobooooooobooobooooboboooobboooobobObOUbObObOO0OOooo
goboboooobooboboboooooboooobobboobbobobooooboboobobobobooboooDb oo
goboboooboboobbboobobooooboooboooooo



Table 1 g-ray spectrum from Sr-90(ICRU Report 56).

E/FEa: | B perdis. || E/E.. | 8 per dis

per bin per bin
0.00 1.597 0.025 1.538
0.05 1.532 0.075 1.526
0.01 1.518 0.125 1.509
0.15 1.500 0.175 1.490
0.20 1.479 0.225 1.466
0.25 1.453 0.275 1.439
0.30 1.422 0.325 1.404
0.35 1.384 0.375 1.361
0.40 1.335 0.425 1.306
0.45 1.274 0.475 1.238
0.50 1.198 0.525 1.154
0.55 1.106 0.575 1.053
0.60 0.997 0.625 0.935
0.65 0.870 0.675 0.801
0.70 0.729 0.725 0.654
0.75 0.577 0.775 0.498
0.80 0.420 0.825 0.343
0.85 0.268 0.875 0.198
0.90 0.135 0.925 0.081
0.95 0.038 0.975 0.010
1.00 0.000

%gr (E__=0.546MeV)
max
1.6 : : 1 1

B/disintegration per interval

0.2 S — TN —

Figure 2: S-ray spectrum from Sr-90(ICRU Report 56).

1. cp ucsource2.f ucsource3.f



2. ucsource3.f00 00O

e local variablel ,deltaes,emax 000000

real*8 ! Local variables
* availke,ekin,tnum,wtin,wtsum,xi0,yi0,zi0,esbin(MXEBIN),
* spg(MXEBIN),spe(MXEBIN),espdf(MXEBIN),escdf(MXEBIN)

real*8 ! Local variables
* availke,ekin,tnum,wtin,wtsum,xi0,yi0,zi0,esbin(MXEBIN),

* spg(MXEBIN),Spe(MXEBIN),espdf(MXEBIN),escdf(MXEBIN),

* deltaes,emax

good
e D ODOopenODODOOOMO

open(2,file=’ir192.inp’,status=’unknown’)

open(2,file=’sr90beta.inp’,status=’unknown’)

good

e sr90beta.inp0 0000000000 DODODODODOOOOOOD sO00O0OO0O0ODOO
000000000000 00000000000ODO0O00000ODO00000 (edf)O
gooboobobooooobggd

0.546

41

0.025

1.597,1.538 ,1.532,1.526 ,1.518,1.509 ,1.500,1.490 ,1.479,1.466 ,
1.453,1.439 ,1.422,1.404 ,1.384,1.361 ,1.335,1.306 ,1.274,1.238 ,
1.198,1.154 ,1.106,1.053 ,0.997,0.935 ,0.870,0.801 ,0.729,0.654 ,
0.577,0.498 ,0.420,0.343 ,0.268,0.198 ,0.135,0.081 ,0.038,0.010 ,

0.000

05460 000000000 (Fme, MeV)041000000.02500F/E,,,,0000
goon

e D IDODOOOD nsebinOOOOODLOOODODO

nsebin=7 ! Number of source energy bins
read(2,*) (esbin(i),i=1,nsebin)
read(2,*) (espdf(i),i=1,nsebin)

O
read(2,*) emax ! Maximum beta-ray energy
read(2,*) nsebin ! Number of source energy bins
read(2,*) deltaes ! Source energy bin width in MeV
read(2,*) (espdf(i),i=1,nsebin)

oooo

o DO DODDOODLDDOODOLOOODLDOO

do ie=1,nsebin
tnum=tnum+espdf (ie)
end do

do ie=1,nsebin
esbin(ie)=(ie-1)*deltaes*emax
tnum=tnum+espdf (ie)

end do



good
cddf 00000000000

escdf (1)=espdf (1) /tnum
do ie=2,nsebin
escdf (ie)=escdf (ie-1)+espdf(ie)/tnum

end do
0
escdf(1)=0.0
do ie=2,nsebin
escdf (ie)=escdf (ie-1)+espdf(ie-1)/tnum
end do
ooogo

gboooooooooooo

iqin=0 ! Incident charge - photons
0

iqin=-1 ! Incident charge - electrons
gooog

goobooooood

ncases=10000

ncases=100000

good
gbobooboboboobooboboobodgd

do ie=1,nsebin
if (rnnow.le.escdf(ie)) go to 1000
end do
1000 ekin=esbin(ie)

o0
do ie=2,nsebin
if (rnnow.le.escdf(ie)) go to 1000
end do
1000 ekin=esbin(ie-1)+(rnnow-escdf(ie-1))*(esbin (ie)-esbin (ie-1))
* /(escdf(ie)-escdf(ie-1))
oooo

gbooobooooooo

do ie=1,nsebin

spe(ie)=spe(ie)/ncount

write(6,170) esbin(ie),spg(ie),spe(ie),espdf(ie)/tnum
170 FORMAT(G10.5,’ MeV--’,8X,G12.5,8%X,G12.5,8X,G12.5)
end do



170

do ie=2,nsebin

spe(ie)=spe(ie)/ncount

write(6,170) esbin(ie),spg(ie),spe(ie),espdf(ie-1)/tnum

FORMAT(G10.5,’ MeV--’,8X,G12.5,8%X,G12.5,8%X,G12.5)

end do

good

. ucsource3.f U egsbrun 0 00 0O 0O
0000 40000000 uecsourceD OO0 OO0O00OO 2500 return”’00 0000

. "Does this user code read from the terminal?’0 000 1000000

.egshjoboout 000000000000 O0OODODOOOOOOOOOODOOODOODOOOO

Sampled source spectrum

Upper energy

.13650E-01
.27300E-01
.40950E-01
.54600E-01
.68250E-01
.81900E-01
.95550E-01
.10920
.12285
.13650
.15015
.16380
.17745
.19110
.20475
.21840
.23205
.24570
.25935
.27300
.28665
.30030
.31395
.32760
.34125
.35490
.36855
.38220
.39585
.40950
.42315
.43680
.45045
.46410
47775
.49140
.50505
.51870
.53235
.54600

particles/source
Gamma

MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0
MeV-- 0.0000 0]
MeV-- 0.0000

10

Electron
.38200E-01
.37300E-01
.36000E-01
.34800E-01
.39400E-01
.34600E-01
.37600E-01
.35500E-01
.36000E-01
.34600E-01
.32200E-01
.35000E-01
.34900E-01
.32400E-01
.31000E-01
.33000E-01
.33800E-01
.31000E-01
.32500E-01
.30500E-01
.26400E-01
.30700E-01
.23900E-01
.26300E-01
.24700E-01
.21400E-01
.19200E-01
.16300E-01
.15500E-01
.13800E-01
.11900E-01
.96000E-02
.98000E-02
.66000E-02
.43000E-02
.27000E-02
.26000E-02
.12000E-02
.10000E-03
0.0000

[eXeololeololelolololooloololololotojolofolejolojolofololofololololoololoNol o

pdf

.37663E-01
.37516E-01
.37369E-01
.37173E-01
.36953E-01
.36732E-01
.36487E-01
.36218E-01
.35900E-01
.35581E-01
.35239E-01
.34822E-01
.34381E-01
.33892E-01
.33328E-01
.32692E-01
.31982E-01
.31198E-01
.30316E-01
.29337E-01
.28259E-01
.27084E-01
.25786E-01
.24415E-01
.22896E-01
.21305E-01
.19615E-01
.17852E-01
.16015E-01
.14130E-01
.12195E-01
.10285E-01
.83995E-02
.65628E-02
.48487E-02
.33059E-02
.19835E-02
.93055E-03
.24488E-03
0.0000



3. Doogoooood

b 15emU0 4em 0000000000 DOO0OODOOOOO0OOOODODOODOOOOODODOO
goboooooood

3.1. 000000od

00 R 00 RO000O0O0O00O0D000O000000O0O0O0O0O0O0ODODOOOOOOOOO00
(pdf) 0000000000
f(r)dr = ¢ X 2mrdr
i 2R 2 2
[, e = exl€’fy = xR - RY) =1
= O R
0000000 (0000000000 O0LOUOOoOOoooo

c

B r _7‘2—R(2)
U—/]%Of(f)df—m

r= /R4 - RY)
xOyOOOODOeOO0O0OO 2200000000000
T =rcos¢, y=rsing
0o0o0ooo0oooobbb0ooo0o0oboo0obooBDoo
1. cp ucsource.f ucsourced.f
2. ucsource4.f0 00
e local variable[ r02,r12,phai00 00000

* esbin(1),spg(1),spe(l)

* esbin(1),spg(1),spe(l),r02,r12,phai,rr0
oooooo
e 000 weicht IO DO Orotl,ri200 00000000

wtin=1.0 ! Weight = 1 since no variance reduction used
0
wtin=1.0 ! Weight = 1 since no variance reduction used
r02=1.5%1.5
r12=4.0%4.0
gooog

e JOUOUODLDUODDOODOODLDOO

11



call randomset(rnnow)
rrO=sqrt (rO02+rnnow* (r12-r02))
call randomset(rnnow)
phai=PI*(2.0*rnnow-1.0)
xin=rrO*cos(phai)
yin=rrO*sin(phai)

good

3. ucsource4.f [J egshrunJ OO0 OO U
0000 40000000 uecsourceD OO0 OO0O00OO 2500 return”’00 0000

4. ”Does this user code read from the terminal?’0 000 1000000

5. CGView O ODOOOO X-YOOOOODODODOOOO 154.000000000000D000
goooond

3.2. Rejection [

Rejection 000 Ox 00 yOODOOO-100 100000000000000000000
Ro/Ri < r =+224+¢4? < 1000000 2+ R 00 y+R 000000000000000
0000000000000 (00000000000000000)00000000000000
0D0000000000000000000

1. cp ucsourced4.f ucsourceb.f
2. ucsource5.f 0000

e local variableOOOOODO

* esbin(1),spg(1),spe(l),r02,r12,phai,rr0

* esbin(1),spg(1),spe(1),r0,rl,rro
ooon
e r02,r120 000 ro,r100000OOOODO

r02=1.5%1.5

r12=4.0%4.0
(]

r0=1.5

ri=4.0
goon

e JOUIUODLODUOODOODODDDOOO

call randomset(rnnow)
rrO=sqrt (rO02+rnnow* (r12-r02))
call RANDOMSET (rnnow)
phai=PI*(2.0*rnnow-1.0)
xin=rrO*cos(phai)
yin=rrO*sin(phai)

12



1100 call randomset(rnnow)
xi0=2.0*rnnow-1.0
call randomset(rnnow)
yi0=2.0*rnnow-1.0
rrO=sqrt (xiO*xi0+yiO*yi0)
if (rr0.gt.1.0.0r.rr0.1t.r0/r1) go to 1100
xin =ri1*xio
yin =ril*yio

3. ucsource5.f [J egshrunJ OO0 OO U
0000 40000000 uecsourceD OO0 OO0O00OO 2500 return”’00 0000

4. ”Does this user code read from the terminal?’0 000 1000000

5. CGView 0 OOODOOODOOOOOODOOO 154cemO000000DC0ODOODOOOOO0O
good

4. 0000000000 (27)

41. 00000000
goobboouozobbootboobowdbObobobooobboobooboo

f(8)df = ¢ x 2rsinfdf (0 < 6 < 7)

w = cosd
good p
w .
E_—sm0—>g(w)_—c><2ﬂ'dw
-1
/ gw)dw = —c x 27 x (=2) =1
1
RN
—i—> (w)dw = 1al
¢= - gw)dw=—cdw

gobowdbooooobobboooobobbobuoooooog
w 1
77:/ g(w)dw:§(1—w)—>w:1—2n
1

1-29p0 2p-100000000000000000O00O0D00O0DO0OD0O0O cosf0O00O0ODODO
goooooobobobogoood

/Og(w)dw: —ex2rx (=1) =1

RN

c= % — g(w)dw = —dw

oooooa
n= /P gwydw=w—-w=1-n9
1

1-n0n00000000w=pU000000000000DO0O0O0OO0OOODOO

13



1. cp ucsource.f ucsource6.f

2. ucsource6.f0 00O

e local variable[ ,phai,rro00 00000

real*8
* availke,ekin,tnum,wtin,wtsum,xi0,yi0,zi0,
* esbin(1),spg(1),spe(l)

! Local variables

real*8
* availke,ekin,tnum,wtin,wtsum,xi0,yi0,zi0,
* esbin(1),spg(1l),spe(l),phai,rro

good
o JOIDDODODLODLOOUODODLOODLDOO

! Local variables

call randomset(rnnow)

win=rnnow

call randomset(rnnow)
phai=PI*(2.0*rnnow-1.0)
uin=dsqrt(l.0-win*win)*cos(phai)
vin=dsqrt(1.0-win*win)*sin(phai)

3. ucsource6.f [J egshrunJ OO DO 0T
0000 40000000 uecsourceD OO0 OO0O00OO 2500 return”’00 0000

4. ”Does this user code read from the terminal?’0 000 1000000

5. CGView O OODO0O 220000000000 0ODOOOODODOOOO

4.2. Rejection [

Rjection OO0 Ox,yUOO zODODOOO-100 100000DO0O0ODOO0ODO0OODOOODOOOO
goooobobooboil1bbobobobbboobooobbbbbooooooboboooobg
gboooooooooooobobobooboooboboobbobooobDoooboobooOon

1. cp ucsource6.f ucsource7.f

2. ucsource7.f00 00

e JOIDDODODODLOOUODDLDODDOOO

call randomset(rnnow)

win=rnnow

call randomset(rnnow)
phai=PI*(2.0*rnnow-1.0)
uin=dsqrt(l.0-win*win)*cos(phai)
vin=dsqrt(1.0-win*win)*sin(phai)
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1300 call randomset(rnnow)
ziO=rnnow
call randomset(rnnow)
xi0=2.0*rnnow-1.0
call randomset(rnnow)
yi0=2.0*rnnow-1.0
rrO0=dsqrt(xi0*xi0+yiO*yiO+zi0*z1i0)
if(rr0.gt.1.0) go to 1300

win = zi0/rr0
uin = xi0/rr0
vin = yiO/rr0

. ucsource7.f U egsbrun 0 00 0O 00O
0000 40000000 uecsourceD OO0 OO0O00OO 2500 return”’00 0000

. "Does this user code read from the terminal?’0 000 1000000

.CGViewDOODOOODOOOOODDODDODOOODODO 220000000000 0ODOOO
gooogoo
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Appendix 1 Full listings of ucsource.f

Dok sk ok ook ok ke ok ok ok ook ok sk ok kb ke ook ook s ok ok ke ke ok sk ok ok ok ok ok ok sk ok sk okok sk ok ok sk ok sk ok ok sk ok sk skok ok sk ok ko ok ok ook ok ok ok ok
Dok kbbb kbbb kkokokkkokkkokkkkkxkkx  KEK, High Energy Accelerator Research *
Dok sk ok ok ok ok ke ok ok ok ok ok ok sk ok okok ok ok ook ok ok ok ook ok Organlzatlon *
l%%% 11 C 8 O U T C e kkkkkkkkxk %
Dok sk ok ok ok ok ke ok ok ok ok ok ok sk ok okok ok ok ook ok ok ok ook ok EGS5.0 USER CODE - 08 Jul 2006/1300 *
sk sk ok ook ok ke ok ok ok ook ok sk ok ko ke ook ook s ok sk ok ke ok sk ok ok ok ok ok ok sk ok sk skok sk ke ok sk ok sk ok ok sk ke sk skok ok sk ok ko ok ok ook ok ok ok ok
'+ This is a general User Code based on the cg geometry scheme. *
sk sk ok ook ok ke ok ok ok ook ke ok kb ke ook ook s ok sk ok ke ok sk ok ok ok sk ok ok sk ok sk ook sk ok ko sk ok sk ok ok sk ko skok ok sk ok kb ok ok ook ok ok ok ok
]

*

PROGRAMMERS: H. Hirayama
Applied Research Laboratory
KEK, High Energy Accelerator Research Organization
i1-1, Oho, Tsukuba, Ibaraki, 305-0801
Japan

E-mail: hideo.hirayama@kek. jp
Telephone: +81-29-864-5451
Fax: +81-29-864-4051

Radiation Science Center

Applied Research Laboratory

KEK, High Energy Accelerator Research Organization
i1-1, Oho, Tsukuba, Ibaraki, 305-0801

Japan

E-mail: yoshihito.namito@kek. jp
Telephone: +81-29-864-5489
Fax: +81-29-864-1993

H K K K K KK KR KR KKK KK KX KX

!
]
]
]
]
]
]
]
!
]
! Y. Namito
]
]
]
]
]
!
]
]
]
]

*

1 sk sk sk sk s o ok ok sk sk sk ook e sk sk o sk sk ok e sk sk sk o e ok sk sk s s ok sk sk sk ok ok sk sk stk s ok sk skl s ok stk ok s ok koot ke s ki ok s ok
1 sk sk sk sk sk o ok ok sk sk sk ook e ok sk o sk sk sk ek sk sk e ok sk sk s ok sk sk sk sk ok sk sk skt s ok sk skl s ok stk ok s ok sk s ki ok s ok
! The ucsource.f User Code requires a cg-input file only

(e.g., ucsource.data).

The following shows the geometry for usource.data.

Input data for CG geometry must be written at the top of data-input
file toiether with material assignment to each region. Cg-data can
be checked by CGview.

This user code to understand source routine.

Use Ranlux random number generator.
ko ook b ook K KRR R ok s ok ok K K ko

*

R
|
s el TR S e T
| |
| Outer| vacuum region
+ -ttt +-—— r=6.0 cmm
| | Vacuum |
| + Fomm - +--- R=4.0 cm
| | | Vacuum |
+ + + e + +--— R=2.0 cm
| | | | | |
| | | | Vacuum |Vacuum|
1.253 MeV | | | I I [
—=——————=>+4————t————t—————— F——— m——————— > 7
photons -5.0 0.0 3.0 5.0 7.0 cm

i
1 sk sk ok sk ok sk ok sk ok sk ok sk ok sk ook o ook o sk ok sk ok o o ok sk ok sk ok o ok sk sk ok ok ok sk ook sk ok o ok ok ok ok ok ook ok ok ok ok
123456789 123456789 123456789 123456789 | 123456789| 123456789 12345678912

HOR K KK KK KRR KK KK KR KKK KR KR KRR xR KR KR

! EGS5 COMMONs
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include ’include/egs5_h.f’ ! Main EGS '"header" file

include ’include/egs5_bounds.f’
include ’include/egs5_brempr.f’
include ’include/egsb5_edge.f’
include ’include/egs5_media.f’
include ’include/egs5_misc.f’
include ’include/egs5_thresh.f’
include ’include/egs5_uphiot.f’
include ’include/egs5_useful.f’
include ’include/egs5_usersc.f’
include ’include/egs5_userxt.f’
include ’include/randomm.f’

include ’auxcommons/aux_h.f’ ! Auxiliary-code '"header'" file

include ’auxcommons/edata.f’
include ’auxcommons/etalyl.f’
include ’auxcommons/instuf.f’
include ’auxcommons/lines.f’
include ’auxcommons/nfac.f’

include ’auxcommons/watch.f’

include ’auxcommons/etaly2.f’ ! Added SJW for energy balance

include ’auxcommons/geom_common.f’ ! geom-common file
integer irinn

common/totals/ ! Variables to score
* maxpict
integer maxpict

Pkkkx real*8 ! Arguments

real*8 totke
real*8 rnnow,etot

real*8 ! Local variables
* availke,ekin,tnum,wtin,wtsum,xi0,yi0,zi0,
* esbin(1),spg(1),spe(l)

real
* tarray(2),tt,tt0,ttl,cputime

integer
¥ 1,icases,idin,ie,ifti,ifto,1i1,
* j,k,n,nd,ner,nsebin

character*24 medarr(1)

Units 7-26 are used in pegs and closed. It is better not
to use as output file. If they are used, they must be opened
after call pegs5. Unit for pict must be 39.

open(6,FILE="egsb5job.out’,STATUS="unknown’)
open(4,FILE="egs5job.inp’,STATUS="01ld’)
open(39,FILE="egs5job.pic’,STATUS=unknown’)

call counters_out(0)

call block_set ! Initialize some general variables
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nmed=1
medarr(1)="NAI ’

do j=1,nmed
do i=1,24
media(i,j)=medarr(j)(i:1i)
end do
end do
chard(1) = 1.0d0 ! optional, but recommended to invoke

! automatic step-size control

write(6,*) ’chard =’,(chard(j),j=1,1)

write(8,100)
100 FORMAT(’ PEGS5-call comes next’/)

npreci=3 ! PICT data mode for CGView in free format
ifti = 4 ! Input unit number for cg-data
ifto = 39 ! Output unit number for PICT

write(8,fmt="(’ CG data’)")
call geomgt(ifti,6) ! Read in CG data
write(8,fmt="(’ End of CG data’,/)")

if (npreci.eq.3) write(ifto,fmt="(’CSTA-FREE’)")
if (npreci.eq.2) write(ifto,fmt="(’CSTA’)")

rewind ifti
call geomgt(ifti,ifto)! Dummy call to write geom info for ifto
write(ifto,110)

110  FORMAT(’CEND’)

nreg=izonin

! Read material for each refion from egs5job.data
read(4,*) (med(i),i=1,nreg)

Random number seeds. Must be defined before call hatch

or defaults will be used. inseed (1- 2731)

luxlev = 1

inseed=1

write(6,120) inseed

120  FORMAT(/,’ inseed=’,I12,5X,

* > (seed for generating unique sequences of Ranlux)’)

call rluxinit ! Initialize the Ranlux random-number generator

! Define initial variables for incident particle normally incident
! on the slab

nsebin=1

iqin=0 ! Incident charge - photons
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ekein=1.2563 ! Kinetic energy

xin=0.0 ! Source position

yin=0.0

zin=-5.0

uin=0.0 ! Moving along z axis

vin=0.0

win=1.0

irin=1 ! Starts in region 1

wtin=1.0 ! Weight = 1 since no variance reduction used

| Maximum total energy of an electron for this problem must be
! defined before hatch call

130

emaxe = ekein + RM ! photon

write(8,130)
format(/’ Call hatch to get cross-—section data’)

open(UNIT=KMPI,FILE="pgs5job.pegsbdat’,STATUS="01ld’)
open(UNIT=KMPO,FILE="egs5job.dummy’ ,STATUS=unknown’)

write(8, 140)
FORMAT(/,’ HATCH-call comes next’,/)

close(UNIT=KMPI)
close(UNIT=KMPO)

write(8,fmt="(’ CG data’)")

write(39,fmt="(’MSTA’)")
write(39,fmt="(i4)") nreg
write(39,fmt="(16i4)") (med(i),i=1,nreg)
write(39,fmt="(’MEND’)")

ncount = 0
ilines = 0
nwrite = 10
nlines = 10
idin = -1
totke = 0.
wtsum = O.

call ecnsv1i(0,nreg,totke)
call ntally(0,nreg)

esbin(1)=ekein

Zero the variables

do j=1,nsebin
spg(j)=0.D0
spe(j)=0.DO

end do

Set histories and histories to write trajectories
ncases=10000

Set maximum number for pict

maxpict=500

tt=etime(tarray)
ttO=tarray(1)
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! Write batch number
write(39,fmt="(’0 1))

do i=1,ncases ! Start of batch -loop
! _________________________
wtin = 1.0
wtsum = wtsum + wtin ! Keep running sum of weights

ekin = ekein
spg(1)=spg(1)+1.0

etot = ekin + iabs(iqin)*RM ! Incident total energy (MeV)
availke = etot + iqin*RM ! Available K.E. (MeV) in system
totke = totke + availke ! Keep running sum of KE

if(irin.le.0.or.irin.gt.nreg) then
call srzone(xin,yin,zin,iqin+2,0,irinn)
call rstnxt(iqin+2,0,irinn)

else
irinn=irin

end if

call shower (iqin,etot,xin,yin,zin,uin,vin,win,irinn,wtin)

ncount = ncount + 1 ! Count total number of actual cases
end do ! End of batch loop

call plotxyz(99,0,0,0.D0,0.D0,0.D0,0.D0,0,0.D0)
write(39,fmt="(’9’)") ! Set end of batch for CG View

tt=etime(tarray)
tti=tarray(1)
cputime=tt1-tt0
write(6,150) cputime
150 format(’ Elapsed Time (sec)=’,G15.5)

! Source spectrum. Incident particle spectrum to detector.

I -——
write(8,160)

160  FORMAT(/’ Sampled source spectrum’/

* 30X, ’particles/source’/
* > Upper energy’,11X,’ Gamma’,14X,’ Electron’,
* 11X,? pdf’)

do ie=1,nsebin
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spg(ie)=spg(ie)/ncount

spe(ie)=spe(ie)/ncount

write(6,170) esbin(ie),spg(ie),spe(ie)

FORMAT(G10.5,’ MeV--’,8X,G12.5,8X,G12.5)

end do

call counters_out(1)

! Version: 030831-1300
| Reference: SLAC-265 (p.19-20, Appendix 2)

subroutine ausgab(iarg)
implicit none

include ’include/egs5_h.f’

! Main EGS "header'" file

include ’include/egs5_epcont.f’ ! COMMONs required by EGS5 code

include ’include/egs5_misc.f’
include ’include/egs5_stack.f’
include ’include/egs5_useful.f’

include ’auxcommons/aux_h.f’ ! Auxiliary-code '"header'" file
include ’auxcommons/lines.f’ ! Auxiliary-code COMMONs
common/totals/ ! Variables to score

* maxpict
integer maxpict

integer
* jarg

real*8
* edepwt

integer
* je,iql,irl

edepwt = edep#*wt(np)

if (ncount.le.maxpict) then
call plotxyz(iarg,np,iq(np),x(np),y(np)
* wt(np))
end if
return

end

! Arguments

! Local variables

,z(np),e(np),ir(np),

Appendix 1-6



e last line of ausgab.f-———————-—-—--—---------—
b howfar.f---------\"-ni.in——
Version: 060620-1400
Reference: T. Torii and T. Sugita, "Development of PRESTA-CG

i
!
! Incorporating Combinatorial Geometry in EGS4/PRESTA", JNC TN1410 2002-201,
! Japan Nuclear Cycle Development Institute (2002).

! Improved version is provided by T. Sugita. 7/27/2004

subroutine howfar
implicit none

include ’include/egs5_h.f’ ! Main EGS '"header" file
include ’include/egs5_epcont.f’ ! COMMONs required by EGS5 code
include ’include/egs5_stack.f’

include ’auxcommons/geom_common.f’ ! geom-common file

integer i,j,jjj,ir_np,nozone, jty,kno

inte§er irnear,irnext,irlold,irlfg,itvlfg,ihitcg

double precision xidd,yidd,zidd,x_np,y_np,z_np,u_np,v_np,Ww_np
double precision tval,tvalO,tval00,tvallO,tvalmn,delhow
double precision atvaltmp

integer iq_np

ir(np)
iq(np) + 2

ir_np
iq_np
if(ir_np.le.0) then

write(6,*) ’Stopped in howfar with ir(np) <=0’

stop
end if

if(ir_np.gt.izonin) then
write(6,*) ’Stopped in howfar with ir(np) > izonin’
stop

end if

if(ir_np.EQ.izonin) then
idisc=1
return

end if

tval=1.d4+30
itvalm=0

c body check
u_np=u(np)
v_np=v(np)
w_np=w(np)
x_np=x(np)
y-np=y(np)
z_np=z(np)

do i=1,nbbody(ir_np)
nozone=ABS(nbzone(i,ir_np))
jty=itblty(nozone)
kno=itblno(nozone)
c rpp check
if(jty.eq.ityknd(1)) then
if(kno.le.0.or.kno.gt.irppin) go to 190
call rppcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
c sph check
elseif (jty.eq.ityknd(2)) then
if(kno.le.0.or.kno.gt.isphin) go to 190
call sphcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
c rcc check
elseif (jty.eq.ityknd(3)) then
if(kno.le.0.or.kno.gt.irccin) go to 190
call rcccgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
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CHkKK

190

310

320

330

trc check
elseif (jty.eq.ityknd(4)) then
if(kno.le.0.or.kno.gt.itrcin) go to 190
call trccgi(kno,x_np,y_np,z_np,u_np,v_np,w_np)
tor check
elseif (jty.eq.ityknd(5)) then
if(kno.le.0.or.kno.gt.itorin) go to 190
call torcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
rec check
elseif (jty.eq.ityknd(6)) then
if(kno.le.0.or.kno.gt.irecin) go to 190
call reccgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
ell check
elseif (jty.eq.ityknd(7)) then
if(kno.le.0.or.kno.gt.iellin) go to 190
call ellcgi(kno,x_np,y_np,z_np,u_np,v_np,w_np)
wed check
elseif(jty.eq.ityknd(8)) then
if(kno.le.0.or.kno.gt.iwedin) go to 190
call wedcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
box check
elseif(jty.eq.ityknd(9)) then
if(kno.le.0.or.kno.gt.iboxin) go to 190
call boxcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
arb check
elseif (jty.eq.ityknd(10)) then
if(kno.le.0.or.kno.gt.iarbin) go to 190
call arbcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
hex check
elseif(jty.eq.ityknd(11)) then
if(kno.le.0.or.kno.gt.ihexin) go to 190
call hexcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
haf check
elseif (jty.eq.ityknd(12)) then
if(kno.le.0.or.kno.gt.ihafin) go to 190
call hafcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
tec check
elseif (jty.eq.ityknd(13)) then
if(kno.le.0.or.kno.gt.itecin) go to 190
call teccgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)

add new geometry in here

end if
continue
end do

irnear=ir_np
if(itvalm.eq.0) then
tvalO=cgepsi
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
continue
if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) goto 320
tvalO=tval0*10.40
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
go to 310
continue
write(*,*) ’srzone:1’
call srzone(xidd,yidd,zidd,iq _np,ir_np,irnext)

if (irnext.ne.ir_np) then
tval=0.0d0
irnear=irnext
else
tval00=0.0d0
tvall0=10.0d0*tval0
irlold=ir_np
irlfg=0
continue
if(irlfg.eq.1) go to 340
tval00=tvalO00+tvalil
if(tval00.gt.1.0d+06) then

write(6,9000) iq(np),ir(np),x(np),y(np),z(np),
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& u(np),v(np),w(np),tvalo0
9000 format(’ TVALOO ERROR : iq,ir,x,y,z,u,v,w,tval=’,
& 2I3,1P7E12.5)
stop
end if
xidd=x_np+tval00*u_np
yidd=y_np+tval00*v_np
zidd=z_np+tval00*w_np
call srzold(xidd,yidd,zidd,irlold,irlfg)
go to 330
340 continue

tval=tvalO0
do j=1,10
x1dd=x_np+tvalO0*u_np
yidd=y_np+tval00*v_np
zidd=z_np+tval00*w_np
write(*,*) ’srzone:2’
call srzone(xidd,yidd,zidd,iq_np,irlold,irnext)
if (irnext.ne.irlold) then
tval=tvalO0
irnear=irnext
end if
tval00=tval00-tvalO
end do
if(ir_np.eq.irnear) then
write(0,#*) ’ir(np),tval=’,ir_np,tval
end if
end if
else
do j=1,itvalm-1
do i=j+1,itvalm
if(atval(i).lt.atval(j)) then
atvaltmp=atval(i)
atval(i)=atval(j)
atval(j)=atvaltmp
endif
enddo
enddo
itvlfg=0
tvalmn=tval
do jjj=1,itvalm
if(tvalmn.gt.atval(jjj)) then
tvalmn=atval(jjj)
end if
delhow=cgeps2
tvalO=atval(jjj)+delhow
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
410 continue
if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) go to 420
delhow=delhow*10.d0
tvalO=atval(jjj)+delhow
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
go to 410
420 continue
write(*,*) ’srzone:3’
call srzone(xidd,yidd,zidd,iq_np,ir_np,irnext)
if((irnext.ne.ir_np.or.atval(jjj).ge.1.).and.
& tval.gt.atval(jjj)) THEN
tval=atval(jjj)
irnear=irnext
itvlf§=1
oto 425
end if
end do
425 continue
if(itvlfg.eq.0) then
tvalO=cgmnst
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
430 continue
if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) go to 440
tvalO=tval0*10.d0
xidd=x_np+tvalO*u_np
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idd=y_np+tvalO*v_n
gidd=g_n£+tvalo*w_n£
go to 430
440 continue
if(tvalmn.gt.tvalO) then
tval=tvalmn
else
tval=tvall
end if
end if
end if
ihitcg=0
if(tval.le.ustep) then
ustep=tval
ihitcg=1
end if
if(ihitcg.eq.1) THEN
if (irnear.eq.0) THEN
write(6,9200) iq(np),ir(np),x(np),y(np),z(np),
& u(np),v(np),w(np),tval
9200 format(’ TVAL ERROR : iq,ir,x,y,z,u,v,w,tval=’,2I3,1P7E12.5)
idisc=1
itverr=itverr+1
if(itverr.ge.100) then
stop
end if
return
end if
irnew=irnear
if (irnew.ne.ir_np) then
call rstnxt(iq_np,ir_np,irnew)
endif
end if
return
end
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